Link 13/05/2020

» Link alle due lezioni registrate:

o https://drive.google.com/open?
Id=1nZLVZktlgzsVpHZ8hd5ywMNgYKv2qub3
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Es. 10.10& 114

10.10. ¥ A hospital admits four patients suffering from a disease for which the
mortality rate is 80%. Find the probabilities of the following outcomes: (a) None of
the patients survives. (b) Exactly one survives. (¢) Two or more survive.

, *11.4 (Section 11.1). A certain radioactive sample contains 1.5 X 10%°
nuclei, each of which has a probability p =10"2° of decaying in any
given minute. | |

(a) What is the expected average number, u, of decays from the sample
in one minute?

(b) Compute the probability p,(v) of observing v decays in a minute
forv=0,1,2, 3.

(c) What is the probability of observing four or more decays in one
minute?
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